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Question 1 (Specialist Mathematics Examination 1) 
a.	
	
	
	
	
	
	
	
	
	
	
	
	
b.	 7	kg	mass:	 7𝑔 − 𝑇 = 7𝑎	 : 1 	
	 3kg	mass	 𝑇 − 3𝑔 = 3𝑎	 : 2 	
	 1 + 2 :	 4𝑔 = 10𝑎	 	
	 	 	 𝑎 = ./

0
	m/s2	

	 From	 2 :	 𝑇 = 31./
0
2 + 3𝑔 = 3/

0
+ 40/

0
= .4/

0
	newtons	

 
Multiple-Choice Question 10 (Specialist Mathematics Examination 2) 

	
Option	E	is	a	possible	derivative	graph	of	the	provided	antiderivative	curve.	
E	
 
Question 7a. (Mathematical Methods Examination 1) 
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Multiple-Choice Question 16 (Mathematical Methods Examination 2) 
	

	
E	
	
Multiple-Choice Question 9 in Data Analysis (Further Mathematics Examination 1) 
	

	
B	
 
Extended-Response Question 1 in Data Analysis (Further Mathematics Examination 2) 
	
Question	1	
a.	 30.8	mm	
	
b.	 𝐼𝑄𝑅 = 31.6 − 30.3 = 1.3	

Upper	fence	= 𝑄; + 1.5𝐼𝑄𝑅 = 31.6 + 1.5	 × 	1.3 = 33.55	
	 As	33.5 < 33.55,	33.5	is	not	an	outlier	
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